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RERNRE SH7EERFERIRERE

% R B - RRSTiE B % B B ff & i) m o=
ERNEE 7,066, 953
RABEDRERE 7,066, 953
RABEDRENE 7,066, 953
RABELRENE 6, 054, 734
REER 1,131,664
1 REER 1.00 299, 566 299, 566
=
2 BMINE - BHE 1.00 285, 678 285, 678
=
3 REREEXRTE 1.00 247, 551 247, 551
=
4 HAMERQEESZY) 1.00 298, 869 298, 869
=
KERE 731,430
5 tHaREtAl 8.00 44, 430 355, 440
=
6 £k 8.00 13,593 108, 744
=
T HRhERK 1.00 267, 246 267, 246
=
TR 532, 660
8 DHTEER 1.00 532, 660 532, 660
=
S 354, 287
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% R R - RARSTiE BfL % 8 B ® # m o=
9 |MESBER 1.00 354, 287 354, 287
=
EEHAE 343, 764
10 i (P1, PT) 2.00 30, 424 60, 848
Hh R
11 3 (P1. PTLLSY) 6. 00 22,986 137,916
Hh R
12 H A HEHER 8.00 18,125 145, 000
Hh R
EA LT 946, 068
13 ELE4EYEHERR (P, P 2.00 62,942 125, 884
Hh R
14 EAEYERERER (P1. PTRSY) 7.00 33,635 235, 445
Hh R
15 fig4 - ZE (EXEWHE) 1.00 584, 739 584, 739
=
ABEELEEYRAE 749,598
16 B, BYRLRUVREHKREELESE 9.00 39,191 352,719
MAE) M=
17 17 - ZR (REELEEMRE) 1.00 396, 879 396, 879
=
TEEMAE 368, 147
18 BRERUVRE ((TEEYHAE) 2.00 217,372 54, 744
Hh R
19 f#17 - B8R (HEEMRE) 1.00 313, 403 313, 403
=
RIEFE 897,116
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R R - RARSTiE B % B B % i) m o=

20 FHEEEdE 1.00 223,543 223,543
=

21 BEHIRESH 1.00 212, 201 212, 201
=

22 REPEER 1.00 267, 147 267, 147
=

23 BRIEPEER 1.00 194, 225 194, 225
=

E#EEE 1,012,219

& - |E 457, 000

24 HRIHE 1.00 126, 500 126, 500
=]

25 difdReE 1.00 126, 500 126, 500
=]

26 RER|ME 1.00 204, 000 204, 000
=]

S 83, 000

2] ¥R 1.00 83, 000 83, 000
=

k& 472,219

28 k& 1.00 472,219 472,219
=
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% g R - KSR Bifr B 2 B i & B W =
EENEE 3,530, 300
HEHE 2,997,640 x 82.4% — 355 2,469, 700
AEEEE 3,530,300 + 2,469, 700 6, 000, 000
BRI 3,496,980 + 39,673 3,536, 653
EEAGE 3,496, 980
BEiEEE 39,673
T DR 3,496,980 x 53.85% ( 35% =+ (1 — 35%) ) 1,883,123
BRI 3,536,653 + 1,883,123 5,419,776
—REERF 5,419,776 x 53.85% ( 35% = (1 — 35% ) ) — 8, 325 2,910, 224
AEHEE 5,419,776 + 2,910,224 8, 330, 000
BB E TS 6,000,000 + 8,330, 000 14, 330, 000
HETR SR L 14,330,000 x 10.00% 1,433,000
BEXHE 14,330,000 + 1,433, 000 15, 763, 000
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£ b B - KT B % = L] ® & W=
EEAEE 3,530, 300
B 2,997,640 x 82.4% — 355 2,469, 700
REBEE 3,530,300 + 2,469, 700 6. 000, 000
B R{E 3,496,980 + 39,673 3,536, 653
EEAGE 3,496, 980
EERE 39,673
T DAt R f 3,496,980 x 53.85% ( 35% =+ (1 — 35% ) ) 1,883,123
RERE 3,536,653 + 1,883, 123 5,419,776
—REERS 5,419,776 x 53.85% (35% + (1 — 35%) ) — 8,325 2,910,224
ABREE 5,419,776 + 2,910, 224 8,330, 000
B8 M 6,000,000 + 8,330,000 14, 330, 000
HERERLE 14,330,000 x 10.00% 1,433,000
AEBEBE 14,330,000 + 1,433,000 15, 763, 000




